[image: image1.png]Costing uses a number of techniques to assist management

(a) Identify the following statements as being true or false by putting a tick in the relevant column of the table
below.

FIFOis atechnique used to costissues and to value
inventories

‘The piecework method to pay labour guarantees
‘set amount of wages

‘Avariance calculation measures the diference
between revenue and cost

SIS

Classification of cost by behaviour allows the.
planning of total cost at differing levels of output







CBT Sample assessment model answers

Basic Costing (BCST)
Sample assessment 1

Task 1 
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[image: image2.png]“The table below lists some of the characteristics of financial accounting and management accounting.

(b) Indicate the characteristics for each system by putting a tick in the relevant column of the table below.

This system produces statements that are used as
‘2 basis to determine the tax charge

This system uses techniques to costissues and v
tovalue inventories

“This system produces statements that are primarily

forintemal use v

This system produces statements that have many
external users





Task 2 
[image: image3.png]Nordeste Ltdis in business as a manufacturer of stationery.

(a) Classify the following costs it incurred by element (material, labour or overhead) by putting a tick in
the relevant column of the table below.

Insurance of office computers

Ink cartridges used in the
production of pens

Wages of employees in the,
production depariment

Card used to produce binders for
notebooks





[image: image4.png]Nordeste Ltdis in business as a manufacturer of stationery.

(b) Classify the following costs incurred by nature (direct or indirect) by putting a tickin the relevant column
of the table below.

Insurance of factory

Paper used in the manufacture of envelopes

Salary of production manager

Plastic usedin the production of pens






Task 3 
[image: image5.png]‘Squench Ltd produces fruit drinks.

(a) Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

Admin

Fruit purchased for use in drinks

‘Stationery provided to all
departments

Interest charged on bank loan

Sales campaign





Task 3, continued

[image: image6.png]‘Squench Lid produces fruit drinks.

(b) Classify the following costs by their behaviour (fixed, variable or semi.variable) by putting a tick n the
relevant column of the table below.

Employees inthe botting
department paid on a piecework
basis

Annual consultancy charge for
updating the website

‘Sugar used n drinks

Machinery hire consisting of a fixed
rental charge and a usage charge






 Task 4 
[image: image7.png]Workout Ltd produces and sells sports and leisurewear. It uses a numerical coding structure based on one
profit centre andthree cost centres as outined in the firstfour columns of the table below. Each code has a
‘sub-code S0 each transaction will be coded as

You are required to classify the revenue and expense transactions shown in the transaction column of the.
table below using the code column for your answer.

P

Administration 340 |Directcost 255 “useeznl-rrl-?az::;nms
Indirect cost 265 Sates ofcasual

R I
Indirect cost 250 g";‘p‘;gﬂ:/emsmg





Task 5
[image: image8.png]Firstglow Lid has setup an invesiment cenire for  project it is undertaking over a period of years. ltuses an
alpha coding system for ts investments, revenues and costs and then further classifies numerically as as
outiined in the firstfour columns of the table below.

You are required to code the transactions listed in the transaction column of the table below using the

code column for your answers. Each transaction should have a five character code.

ode Transaction

Act Sub-

ity Code  Natureofc

Investments N |Btemal 2o [|Stemattincs vsedto |
Internal 200 [ Extemal contactor charge | cosan

Revenues Re  [uk 320 [ materarused onproject | cosz0
Overseas 350 j:‘;’:lz paitto om0

Costs co  |matera o ||Poisdreemearsing |
Laveur 0 i vesed n o
Overneads 640






Task 6 
[image: image9.png](a) Identify the type of cost behaviour (fixed, variable or semi.variable) described in each statement by
putting a tick in the relevant column of the table below.

Costs are £2 per unit at 20,000 units and £10 per unit
at4,000 units

Costs 0f£30,000 are made up of a fied charge of
£10,000 and a further cost of £5 per unit at 4,000 units

Costs are £25,000 at 10,000 units and £40,000 at
16,000 units

below.

Materials used in the production of a product

Employees paid on a time-rate basis for an agreed
number of hours per week v

Annual Heallh and Safety inspection





Task 7 
[image: image10.png]‘The table below lists a number of costs

(a) Indicate whether the following costs are an overhead or not by putting a tick in the relevant colum of the
table below.

Fee paid to an extemal accountant

SIS

Salary of chief executive

Wages of production workers making the product




[image: image11.png]Havenport Ltd makes a single product A proguction level of 75,000 units has the following costs:

Materials 50,000 kilos at £33 per kilo
Labour 40,000 hours at£2250 hour
Overheads  £1,950,000

(b) Complete the table below to show the unit product cost at the production level of 75,000 units.

Unit Product
Cost

Waterials 2

Labour 2

Direct Cost

Overheads %

Total 0





Task 8 
[image: image12.png](a) Reorder the following costs into a manufacturing account format for the year ended 31 December.
You should drag each item to the position where you want it to be on the list on the right side of the.
page below and then drop it into place.





[image: image13.png]Opening inventory of raw materals 252,700
Purchase of raw materials 221,100
Closing inventory of raw materials 248,100

DIRECT HATERIALS USED

Directlabour £124,000
DIRECT COST

Wanufacturing overheads £237.400
WANUFACTURING COST

Opening iventory afwork n progress 72,400
Glosing inventory of work n progress 74,200

(COST OF GOODS HANUFACTURED

Opening inventory of finished goods £107.600
Glosing inventory offinished goods £101.200

(COST OF GOODS SOLD






Task 8, continued

[image: image14.png](b)  Enter the correct figures for the following costs which were not provided in part (a).

DIRECT HATERIALS USED £ 225700
DIRECT COST £ 369700
ANUFACTURING COST £ 07100
COSTS OF GOODS MANUFACTURED £ 05300
GOST OF GOODS SOLD £ 51700






Task 9 

[image: image15.png]You are told the opening inventory of a single raw material in the stores is 1,200 units 3t£6.00 per unit
During the month 1,800 units at £8.00 per unit are received and the following week 2,400 nits are issued.

(a) Identity the valuation method described in the statements below.

“The closing inventory is valued
at£4800

‘The issue of 2,400 units is costed
at£17.280

‘The issue of 2,400 units is costed
at£18,000

You are told the opening inventory of a single raw material in the stores is 1,200 units 3t£6.00 per unit
During the month 1,800 units at £8.00 per unit are received and the following week 2,400 nits are issued.

Identify whether the statements in the table below are true or false by putting a tick
in the relevant column.

AVCO values the closing inventory at£4,320

FIFO costs the issue of 2,400 units 3t£16,900

LIFOvalues the closing inventory at £3,600





Task 10 
[image: image16.png]Abusiness has the following movements in a certain type of inventory into and out of its stores for the month
of Februay.

Feba 1000 £4000)
Feb7 s00| 2500
Fe11 2000 £11.000
Feb 19 2100
Feb2s 1800 £11700)

‘Complete the table below by entering the cost of issue and closing inventory values.

FIFO 9800 19400

LFO 11500 17700

Aveo 10500 18700






Task 11 
[image: image17.png]An employee is paid £8.00 an hour and is expected to make 25 units an hour.
‘Any excess production will be paid a bonus of 20p per it

(a) Identify the following statements as being true or false by putting a tick in the relevant column of the.
table below.

During a 36 hour week an employee produces
910 units and does not receive a bonus

During a 40 hour week an employee produces.
1,180 units and receives a bonus of £36

During 37 hour week an employee produces.
980 units and receives total pay of £307

Norihcake Ltd pays a time-rate of £12.50 per hour for a 36 hour week.
Any employee working in excess of 36 hours per week s paid an overtime rate of £15.00 per hour.

(b) Calculate the basic wage, overtime and gross wage for the week for the two employees in the table
‘below. Note: if no overtime is paid you should enter 0 as the overtime for that employee.

V. Chopra 40 450 LY 510

R.Sival 3 450 105 555





Task 12 
[image: image18.png]Piecework s a method of paying labour.

Identify the following statements about the piecework method as either true or false by putting a tick in
the relevant column of the table below.

Employees’ pay willincrease if more units are
produced

An employee is paid 45p per unit and eams £288 for
‘2 production of 640 units.

An employee who s paid £350 for a production of
875 units is paid 40p per unit

[SHS ST

Employees paid on a piecework basis will always
eam an agreed total amount of pay






Task 13 
[image: image19.png]FanfestLid uses a time-rate method with bonus to pay the employees in ts factory. The time-rate used is
£11.00 per hour and an employee is expected to produce 12 units per hour; anyihing over this and the
employee s paid a bonus of 25p per unit

Calculate the basic wage, bonus and gross wage for the week for the three employees in the table below.
Note: if no bonus is paid you should enter 0 as the bonus for that employee in the table.

L singh a2 500 462 0 52

M.Barton 30 540 429 18 aa7

S. Valencia @ 508 451 4 455






Task 14 
[image: image20.png](a) Complete the formatting of the spreadsheet by selecting column headings from the drop-down lists.

‘Complete the rows for February, March and Total by inserting figures in the cells.

» B c o B v
" [orecomee Rl FoecCostss  [fomcosst Rl SeiesRewnues [romiosrs Rl
2 |January 10,000} 10,000} 20,000 16,000} (4,000)(
3 [Febuan 20000 0000 0000 2000 200
4 [uaren 25000 0000 35000 0000 500
5 [Taw s5.000 0000 es.000 a8.000 2000

(b) Insert formulas into the table below th

at would generate the correct figures for cells BS, C5, D5 and F.

A

c

E

=SUM(B28B4)

=SUM(C2C4)

=SUMD2D4)

=E5D8






Task 15 
[image: image21.png]Listed below are four statements about spreadsheets.

Identify the statements as being true or false by putting a tick in the relevant column of the table below.

Acellis usedto enter data

Aformula cannot be used in a spreadsheet

Apassword is used as the title a worksheet

SIS

Aworksheetis used to record and analyse data






Task 16 
[image: image22.png]Johnson Ltd has the following actual results for the month of April which are to be compared to the budget:

Income  £40,000

Expenditure:
Materials  £15,000
Labour  £8,000

Overheads  £7,500

(a) Enter the above data into the spreadsheet below, calculate the variance for each item of income and
‘expenditure, and determine whether itis adverse or favourable (enter A or F).




[image: image23.png]Johnson Lid has the following actual results for the month of April which are to be compared to the budget

Income  £40,000

Expenditure:
Materials  £15,000
Labour  £8,000

Overheads  £7,500

(a) Enter the above data into the spreadsheet below, calculate the variance for each item of income and

‘expenditure, and determine whether it is adverse or variable (enter A or F).
A 5 3 o €
1 |incomerEspendtures | sudgets rctals Varancas | RO ERoue
2 [ncame 45000 0000 5000 A
3 [veteral 15800 15000 a0 .
& [ avour 2000 2000 1000 .
5 | oveneacs a800 7500 1300 .






Task 16, continued

[image: image24.png](b) Insert the formulas in the table below that you used for cells 2, 3, 4 and 5 of column D of the spreadsheet.

D
1 Variance £
2 |=com2

3 |

4 |






Task 17 
[image: image25.png]Below s an extract of the spreadshest for Johnson Ltd for last month

(a) Using the appropriate sort button, re-order the data from column C in descending order and answer the
‘question below.

Al = A Z

= - Zl Al

B I U~ AN sum Average sort ‘ Sort
A B € o

1| income/Expenditure £ Budgets. Variance £ i
2 | vaterial 15,800) 3900] A
3 | Overheads 8,800 1,700 A
4 | income 45000 1500 F
5 | Lavour 9,000 890) F

After you have sorted the variances above correctly, select from the list below the variance that
‘appears in cell C3.

1,500

3900

890

1,700





[image: image26.png]‘The following spreadsheet shows budgsted income and variances for last month for Johnson Lid. Itis
company policy to provide managers with a variance report highlighting significant variances.
‘Anyvariance in excess of 10%s considered significant

(b) In column , identiy significant variances in excess of 10% of budget, entering § for significant and
NS for not significant.

" s c D 3
1 [ncomeEenaures | sudgets Veramcas | Ao || SgnenS
2 [ icome w50 G s
3 [waer Tsa00 " I s
4 [avow 2000 w|  F s
5 [ovemescs = I s








Note regarding part (b)





Other appropriate formulas will also pick up marks, for example in cell B5, another equally valid answer would be


=(B2+B3+B4)








Note regarding variances





Adverse variances may be entered with or without the minus sign in column D of this task, as candidates are asked to identify whether these variances are adverse or favourable separately in column E.








Note regarding formulas





The suggested answers above show one possible answer for each cell but other valid formulas are accepted.








